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100 Questions

Que. 1 Directions: Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options:

It is almost a fortnight now that I am domiciled in a medieval villa in the country, a mile or two from Florence.
I cannot speak the language; I am too old not to learn how, also too busy when I am busy, and too indolent when
I am not; wherefore some will imagine that I am having a dull time of it. But it is not so. The "help" are all
natives; they talk Italian to me, and I answer in English; I do not understand them, they do not understand me,
consequently no harm is done, and everybody is satisfied. In order to be just and fair, I throw in an Italian word
when I have one, and this has a good influence. I get the word out of the morning paper. I have to use it while it
is fresh, for I find that Italian words do not keep in this climate. They fade toward night, and the next morning
they are gone. But it does not matter; I get a new one out of the paper before breakfast and thrill the domestics
with it while it lasts. I have no dictionary, and I do not want one; I can select words by sound, or by
orthographic aspect. Many of them have a French or German or English look, and these are the ones I enslave
for the day's service. That is, as a rule. Not always. If I find a learnable phrase that has an imposing look and
warbles musically along I do not care to know the meaning of it; I pay it out to the first applicant, knowing that if
I pronounce it carefully he will understand it, and that's enough.
Yesterday's word was Avanti. It sounds Shakespearian, and probably means Avaunt and quit my sight. Today I
have a whole phrase: Sono dispiacentissimo. I do not know what it means, but it seems to fit in everywhere and
give satisfaction. Although as a rule my words and phrases are good ____ one day and train only, I have several
that stay by me all the time, for some unknown reason, and these come very handy when I get into a long
conversation and need things to fire up with in monotonous stretches. One of the best ones is dov' `e il gatto. It
nearly always produces a pleasant surprise, therefore I save it up for places where I want to express applause or
admiration. The fourth word has a French sound, and I think the phrase means "that takes the cake."
During my first week in the deep and dreamy stillness of this woodsy and flowery place I was without news of
the outside world, and was well content without it. It has been four weeks since I had seen a newspaper, and this
lack seemed to give life a new charm and grace and saturate it with a feeling verging upon actual delight. Then
came a change that was to be expected: the appetite for news began to rise again, after this invigorating rest. I
had to feed it, but I was not willing to let it make me its helpless slave again; I determined to put it on a diet, and
a strict and limited one. So I examined an Italian paper, with the idea of feeding it on that, and on that
exclusively. On that exclusively, and without the help of a dictionary. In this way, I should surely be well
protected against overloading and indigestion.

Choose the Synonym of the word 'indolent'. 

Correct Option - 1

Idle1.
Diligent2.
Energetic3.
Industrious4.
Dynamic5.

Que. 2 Choose the Antonym of the word 'delight'. 
Contentment1.

Glee2.
Ecstasy3.
Dismay4.
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Correct Option - 4
Enchantment5.

Que. 3 Which of the following is/are correct according to the given passage?

A. The "help" are all natives; they talk Italian to me, and I answer in English.
B. It nearly always produces a disturbing surprise, therefore I save it up for places where I want to express
applause or admiration.
C. I examined an Italian paper, with the idea of feeding it on that, and on that exclusively.

Correct Option - 5

Only A1.
Only B2.
Only C3.
Both A and B4.
Both A and C5.

Que. 4 What will fit in the blank taken from the passage:
Although as a rule my words and phrases are good ____ one day and train only.

Correct Option - 2

to1.
for2.
in3.
on4.
across5.

Que. 5 According to the passage, the narrator was visiting which city in Italy? 

Correct Option - 3

Rome1.
Milan2.
Florence3.
Venice4.
Naples5.

Que. 6 According to the passage, which Italian word sounded Shakespearian to the narrator? 

Correct Option - 1

Avanti1.
Sono dispiacentissimo2.
Avaunt3.
Dov' `e il gatto4.
None of these5.

Que. 7 According to the passage, the author was well content without what? 
Family1.

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Correct Option - 5

Work2.
Business3.
Leisure4.
Newspaper5.

Que. 8 According to the passage, from where does the narrator get the Italian word he uses in his everyday
life? 

Correct Option - 2

Knowledge of the language1.
Morning paper2.
His help3.
Dictionary4.
None of these5.

Que. 9 Read the sentence to find out whether there is any error in it or not. The error if any will be in one
part of the sentence. The number of that part is the answer. If there is no error the answer is (5).

Ignore errors of punctuation if any.
She rose, having (A)/ sleep fully clothed out (B)/ of fear that a demon would (C)/ attack her in her sleep.(D)/ No
error

Correct Option - 2

A1.
B2.
C3.
D4.
No error5.

Que. 10 Find the error in the given sentence, if there is no error mark 'no error' as your answer.
"When is the best days to go to the mall?",(A)/ the child asked the guardian, who was(B)/ stone-faced

throughout the day and (C)/ during most of the conversations. (D) No error (E) 

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 11 Find the error in the given sentence, if there is no error mark 'no error' as your answer.
"Shall they not go to the cinema", He whispered to me, (A)/ while we were looking up at (B)/ the stars,

the walk was very (C)/ pleasant with the wind blowing around.(D)/ No error (E)  
A1.
B2.
C3.
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Correct Option - 1

D4.
E5.

Que. 12 A sentence with four emboldened words is given below. See if any of the words are wrongly used
based on context or spelling and mark that word accordingly. If all the words are used correctly,

use option 5 as the answer.
After the dinner got over, the lights mysteriuously failed, and we stumbled around in complete darkness.

Correct Option - 2

Got1.
Mysteriuously2.
Stumbled3.
Darkness4.
All are correct5.

Que. 13 In the following question four words are given in bold. One of these words given in bold wrongly
spelt or inappropriate in the context. Find out that word. If all the words are correct, choose ‘All

correct’ as the answer.
She adduces (1)/ she's being oistracized by (2)/ some members of (3)/ her vernacular community. (4)/ All
correct (5)

Correct Option - 2

11.
22.
33.
44.
55.

Que. 14 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
The traveller consouled himself (1)/ with philosophical reflections (2)/ on the numberless meetings (3)/  and
partings going on in the world.(4)

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 15 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English or is wrongly spelt. Pick up that part and mark its

number. If there are no errors in the bold parts, mark (5) i.e. No error as the answer.
While the president’s speech (1)/ seems original, it contains (2)/ an allesion to a speech made (3)/
by another world leader. (4)
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Correct Option - 3

11.
22.
33.
44.
No error5.

Que. 16 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English or is wrongly spelt. Pick up that part and mark its

number. If there are no errors in the bold parts, mark (5) i.e. No error as the answer.
Her son’s increasingly depressed and (1)/ angry mood swings were becoming (2)/ worisome so she
made an (3)/ appointment with a therapist. (4)

Correct Option - 3

11.
22.
33.
44.
No error5.

Que. 17 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. mass formal education
B. part of all industrial
C. began in industrial society
D. societies in India
E. and is an established

Correct Option - 5

ABCDE1.
CDEBA2.
DEBAC3.
BECDA4.
ACEBD5.

Que. 18 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. of many sorts show
B. both plants and animals
C. growth habits and even modes
D. remarkable changes in form,
E. of reproduction to adapt to changing environment

BADCE1.
ABCED2.
CAEDB3.
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Correct Option - 1

BDCEA4.
CAEBD5.

Que. 19 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. of current events
B. of ancient history
C. working knowledge
D. is necessary for the
E. intelligent interpretation

Correct Option - 5

ABDEC1.
CEABD2.
BEADC3.
ABCDE4.
CBDEA5.

Que. 20 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. play an important role
B. in the global carbon cycle as
C. mature forests do
D. stable carbon pools
E. and decrease carbon dioxide levels

Correct Option - 1

CABDE1.
DECAB2.
BCDAE3.
BDEAC4.
DEBAC5.

Que. 21 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. As India faces extreme
B. weather events such as
C. increased intensity of rainfall,
D. scientists have warned that
E. global warming could bring about changes to the rainfall.

ABCDE1.
DEABC2.
BCDEA3.
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Correct Option - 1

DEACB4.
EABCD5.

Que. 22 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

After examining him, the doctor smiled at him ________ and took out a syringe.

Correct Option - 4

unkindly1.
staring2.
Immediately3.
mischievously4.
cautiously5.

Que. 23 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

Children have always known that there is _______ in the adult world.

Correct Option - 2

harmonious1.
Conflict2.
clear3.
agreement4.
vagueness5.

Que. 24 The given question has one blank indicating that something has been omitted. Choose the word
from the given options that could fit in the blank correctly. 

Alexis had to move to a small town when she lost all her ________ in a financial scam. 

Correct Option - 3

Torture1.
Luck2.
Fortune3.
Sympathy4.
Empathy5.

Que. 25 The given question has one blank indicating that something has been omitted. Choose the word
from the given options that could fit in the blank correctly. 

Casey had been having recurring _________ for 3 nights in a row and she was extremely scared. 
Jokes1.
Paranormal2.
Daydreams3.
Nightmares4.
Dreams5.
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Correct Option - 4

Que. 26 Direction: Study the following information carefully and answer the given questions.
Eight person A, B, C, D, E, F, G and H are seating around a square table, they seating in such a way

that four sits in middle of each four sides and facing outsides, and another four sits at the four corners facing
center.
E, who faces the center sits 3rd to the right of B. H faces the center who is not the immediate neighbor of B.
Only one person sits between B and D. G faces center, F sits second to the right of G. C is not immediate
neighbor of E.

Who sits third to the left of F? 

Correct Option - 4

C1.
E2.
A3.
D4.
None of these5.

Que. 27 What should be the place in the question mark?
EF GH CD ?

Correct Option - 1

AB1.
BG2.
CF3.
DE4.
None of these5.

Que. 28 Who sits diagonally opposite to E?

Correct Option - 2

H1.
F2.
G3.
A4.
None of these5.

Que. 29 Who sits fourth to the right of B?

Correct Option - 5

F1.
E2.
C3.
D4.
A5.
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Que. 30 Who sits immediate left of G?

Correct Option - 2

A1.
D2.
C3.
E4.
F5.

Que. 31 Direction: In the following question assuming the given statements to be true, find which conclusion
among the given conclusions is/are definitely true, and then give your answers accordingly.

Statements:
S = H ≥ P = K < L; M > J = Q > K
Conclusions:
I. H ≥ M
II. M ≤ L

Correct Option - 5

Only II is true1.
Only I is true2.
Both I and II are true3.
Either I or II is true4.
None is true5.

Que. 32 Direction:In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements:
D > A ≥ J = B < P < Q; W > A = F
Conclusions:
I. D > W
II. D < W

Correct Option - 4

Only II is true1.
Only I is true2.
Both I and II are true3.
Neither I nor II is true4.
Either I or II is true5.

Que. 33 Direction: In the following question assuming the given statements to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers accordingly.

G ≤ H < Y = B ≤ U; B > F = D > R
Conclusion:
I. Y > R
II. U > D
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Correct Option - 2

Only conclusion I follows1.
Both conclusion I and II follows2.
Only conclusion II follows3.
Either I or II follows4.
Neither conclusions I nor II follow5.

Que. 34 Direction: In the following question assuming the given statements to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers accordingly.

Statement: X < C = Z < S > G; X > M < J ≥ N
Conclusion:
I. S > M
II. G > J

Correct Option - 1

Only conclusion I follows1.
Both conclusion I or II follows2.
Only conclusion II follows3.
Either I or II follows4.
Neither conclusions I nor II follow5.

Que. 35 How many such pairs of letters are there in the word “TEACHER” each of which has as many letters
between them in the word (in both forward and backward directions), as they have between them in the

English alphabetical series?

Correct Option - 2

Two1.
Three2.
One3.
Five4.
Four5.

Que. 36 Direction: Study the following information carefully and answer the given questions.
In a certain code language:

‘home is beautiful coloured’ is written as ‘aa ff ac cc’,
‘nice are not beautiful’ is written as ‘ac ec ce af’,
‘we love beautiful home’ is written as ‘aa ac ea ae’ and
‘we love nice coloured’ is written as ‘cc ae ea ec’.
Which word is represented by ‘ea’?

we1.
love2.
nice3.
coloured4.
Can’t say5.
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Correct Option - 5

Que. 37 Which of the following code is used for ‘beautiful’ in this code language?

Correct Option - 3

ff1.
aa2.
ac3.
cc4.
None of these 5.

Que. 38 Code ‘ff’ is for which word in the given language?

Correct Option - 1

is1.
home2.
beautiful3.
coloured4.
None of these5.

Que. 39 Directions: Study the following information carefully to answer the given questions.
In a family, there are 9 family members having 3 generations. Male members will be lesser than female

members. N is mother in law of P who is son of S. C's father has only one son who is married to D. N is mother
of C. Q is sister in law of D. D is aunt of L who is unmarried. L is grandchild of N. M is not married to S. C is
father of T who is grandson of M. M is married to C's mother. 

Who is father of Q?

Correct Option - 2

N1.
M2.
S3.
D4.
None of the above5.

Que. 40 How P related to D?

Correct Option - 3

Brother1.
Father2.
Brother in law3.
Husband4.
Sister5.

Que. 41 How is T related to sister of C?
Brother1.
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Correct Option - 2

Nephew2.
Niece3.
Father4.
Son5.

Que. 42 Directions: These questions are based on the following arrangement. Study the arrangement carefully
to answer these questions.

C 9 O # 2 R $ 8 % O 3 # N 7 @ A 4 G $ 6 O % 5 T 4 % O 7 # H 3 & E 8 @ L 6 5 L
What will come in place of the question mark of the series?
# R O, % 3 8, 7 A N, ? 

Correct Option - 1

$ O G1.
@ 4 $2.
% 5 T3.
$ O 54.
@ 4 N5.

Que. 43 How many such symbols are there in the above sequence, each of which is immediately followed or
preceded by a perfect cube of a number or a perfect square of a number?

Correct Option - 3

51.
22.
43.
34.
75.

Que. 44 How many such odd numbers are there in the above sequence, each of which is immediately preceded
by a symbol?

Correct Option - 5

51.
22.
43.
34.
15.

Que. 45 How many such symbols are there in the above arrangement each of which is immediately followed by
a number and also immediately preceded by a consonant?

51.
22.
43.
34.
65.
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Correct Option - 2

Que. 46 Direction: Study the following information carefully and answer the questions following it.
Eight friends Divya, Dev, Disha, Charu, Gopal, Golu, Harsh and Nisha live in an eight-floor building

but not necessarily in the same order. The lowermost floor is Numbered one and above as two and so on. Three
persons live between Harsh and Disha and Neither of them lives on an even-numbered floor. Harsh lives above
Disha. Divya lives above Disha but below Harsh. Divya does not live on an even-numbered floor. Golu lives
below Divya but not immediately below. Golu does not live on an odd-numbered floor. Number of persons live
above Gopal is one more than the number of persons live below Golu. Charu lives neither immediately below
Golu nor on the topmost floor. Nisha does not live on an odd-numbered floor.

Who lives on 6th floor?

Correct Option - 3

Nisha1.
Golu2.
Gopal3.
Divya4.
Dev5.

Que. 47 How many persons live between Divya and Disha?

Correct Option - 1

One1.
Two2.
Three3.
Four4.
Five5.

Que. 48 Who lives on the lowermost floor?

Correct Option - 1

Dev1.
Disha2.
Divya3.
Gopal4.
Golu5.

Que. 49 How many persons live above Charu?

Correct Option - 4

One1.
Two2.
Three3.
Four4.
Five5.
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Que. 50 Who live immediately above Harsh?

Correct Option - 5

Harsh1.
Golu2.
Divya3.
Gopal4.
Nisha5.

Que. 51 Direction: Read the following table carefully and answer the following questions.
The following table depicts the ratio of Girls to Boys and total students In five colleges: 

College Name Girls : Boys Total Students
M.D College 7 : 4 16,500

D.A.V College 5 : 3 -
M.G.S College - 11,900

M.P College 2 : 3 18,500
D.B.R College 6 : 5 14,300

Note: Total students = Total number of boys + Total number of girls

If the number of girls in M.G.S college is 700 more than the number of boys, find the difference between the
number of boys in M.G.S college and the number of girls in M.D college.

Correct Option - 3

5,0001.
5,9002.
4,9003.
5,5004.
None of these5.

Que. 52 The number of girls in D.B.R college is what percent more than the number of boys in M.D college?

Correct Option - 5

25%1.
33.33%2.
20%3.
31%4.
None of these5.

Que. 53 If the difference between the number of boys and girls in D.A.V college is 4400, find the sum of the
total number of students of D.A.V college and the total number of boys in M.P college.

23,6001.
27,7002.
28,7003.
29,0004.
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Correct Option - 3
none of these5.

Que. 54 Find the ratio of the number of boys of DBR college to the number of girls of MD college.

Correct Option - 1

13 : 211.
13 : 152.
13 : 113.
Data can not be determined4.
None of these5.

Que. 55 If the total number of students of DAV college is 17,600 and the ratio of girls and boys of M.G.S
college is 9 : 8 then find the average number of boys in all the colleges.

Correct Option - 3

7,0001.
7,2602.
7,1603.
Data cannot be determined4.
None of these5.

Que. 56 What approximate value will come in the place of the question mark ‘?’ in the following question?
570.55 ÷ 15.03 + 35% × ? – 37.02 × 28.90 = 1944.40 – 22.22% of 256

Correct Option - 3

84831.
83972.
83513.
83314.
81255.

Que. 57 What approximate value should come in place of the question mark (?) in the following question?

Correct Option - 2

7 % × 244.98 + 7 % × 379.68 = 35% of ? + 36.328
2

3

2

3

251.
332.
403.
504.
555.

Que. 58 What approximate value should come in place of the question mark (?) in the following question?
6 + 4 + 1 − 2 + 4 × 3 =?

1

3

1

5

3

7

1

7

2

5

1

3

1. 25
7

35
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Correct Option - 4

2. 31
7

35

3. 26
17

35

4. 24
17

35

None of these5.

Que. 59 What will come in the place of the question mark ‘?’ in the following question?

2161/3 × 264 × 394 ÷ [124 × 3 × 2-3] = 13?

Correct Option - 1

81.
122.
43.
104.
165.

Que. 60 Find out the approximate value which should replace the question mark (?) in the following question.

764.95 × 3.99 – 332.32 × 10.19 + 2998% of 27.85 = ?2

Correct Option - 1

241.
142.
263.
164.
45.

Que. 61 A bag has total 18 marbles of three different colours Black, Red and Pink. Number of each type of
marbles is different. Difference between number of Red and black marbles is same as difference

between number of red and pink marbles. If probability of picking a black marble from the bag is more than 0.23
and probability of picking a pink ball is less than 0.44 then find number of Pink marbles in the bag.

Correct Option - 5

401.
422.
453.
504.
Can't be determined5.

Que. 62 The cost of Iphone is 60% more than that of a Android phone. If the cost of Iphone is decreased by
40% and that of Android phone is increased by 30%, then what is the percentage change in the total

cost of two Iphones and three Android phones as compared to the original cost ? (Correct to one decimal place )
6.2%1.
5.1%2.
7.2%3.
6.1%4.
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Correct Option - 4
5.2%5.

Que. 63 A town had a population of 4800 in the year 2019 in which the number of males to females is 5 : 3.
The number of males in 2020, 2021, and 2022 increased by 25%, 20%, and 10% respectively with

respect to the previous year while the number of females in 2020, 2021, and 2022 increased by 20%, 50%, and
40% respectively with respect to the previous year, then find the current population of the town?

Correct Option - 2

92761.
94862.
95783.
95664.
97325.

Que. 64 Two trains C and D of length (y + 75) meters and (y + 175) meters respectively are moving in the
opposite direction. Train C crosses train D in 10 seconds and the speed of train D is 15 m/s. If train D

is standing on the platform, then train C crosses train D in 16 seconds. Find the length of train C.

Correct Option - 3

120 meters1.
110 meters2.
150 meters3.
155 meters4.
160 meters5.

Que. 65 Ram invested a certain sum for t years at a simple interest of 12% per annum and after t years it
amounts to ₹300. In the second case, Ram invested the same sum for t years at a simple interest of 7%

per annum and after t years it amounts to ₹200. Find the sum.

Correct Option - 4

₹1201.
₹1002.
₹403.
₹604.
₹705.

Que. 66 A ship went downstream for 27 km and immediately returned. It took the ship twice as long to make
the return trip. If the speed of flow of the river were twice as high, the trip downstream and back would

take 648 minutes. Find the speed of the ship in still water and the speed of the river flow.

Correct Option - 1

9 km/hr, 3 km/hr1.
10 km/hr, 4 km/hr2.
8 km/hr, 3 km/hr3.
6 km/hr, 3 km/hr4.
None of these.5.
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Que. 67 If the ages of Joe and Andy are added to thrice the age of Mary, the total becomes 79. If the ages of Joe
and Mary are added to twice the age of Andy, the total becomes 61 and if the age of Mary is added to

thrice the age of Andy and thrice the age of Joe, the total becomes 101. What is the age of Mary?  

Correct Option - 3

16 yrs1.
12 yrs2.
17 yrs3.
15 yrs4.
18 yrs5.

Que. 68 A person invests Rs. 40000 in a scheme in which he gets interest every 6 months at 10% per annum
compound interest for 1.5 years. Another person invests the same amount of money in another scheme

in which he gets interest every 3 months at 10% per annum compound interest for 1 year. Find the difference of
interest (approx.)

Correct Option - 3

Rs. 20001.
Rs. 24002.
Rs. 21533.
Rs. 30004.
None of these 5.

Que. 69 The floor of a square room of side 4 metres is to be paved with Onyx tiles of size 16 cm × 20 cm. The
number of such tiles to be required are:

Correct Option - 2

2501.
5002.
20003.
2004.
4005.

Que. 70 An Inlet pipe fills the tank at the rate of 3.5 liters/hour. And due to leak tank gets empty in 20% of time
taken by both inlet and leak together. When the tank is full and due to leak and inlet pipe, the tank gets

emptied in 60 hours. Find the capacity of the tank?

Correct Option - 2

55.02 liters1.
52.5 liters2.
51.50 liters3.
53.05 liters4.
49.05 liters5.

Que. 71 In the following number series, a wrong number is given. Find out the wrong number.
32, 33, 25, 52, 12, 113

331.
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Correct Option - 4

252.
523.
124.
1135.

Que. 72 In each of the following number series, the wrong number is given, find out that number.
132, 156, 181, 210, 240, 272, 306

Correct Option - 2

2721.
1812.
2103.
1564.
2405.

Que. 73 In the following number series, a wrong number is given. Find out the wrong number.
154, 145, 161, 136, 174, 123, 187

Correct Option - 3

1451.
1362.
1743.
1234.
1875.

Que. 74 In the following number series, a wrong number is given. Find out the wrong number.
1, 6, 16, 33, 60, 96, 146

Correct Option - 3

11.
162.
603.
964.
1465.

Que. 75 In each of the following number series, the wrong number is given, find out that number.

30, 31, 76, 207, 844, 4245

Correct Option - 2

301.
762.
42453.
2074.
8445.
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Que. 76 The Alai-Darwaza of Delhi was built by _______.

Correct Option - 4

Iltutmish1.
Qutb-ud-din Aibak2.
Aram Shah3.
Alauddin Khilji4.
None of the above5.

Que. 77 Who is the richest person in the world?

Correct Option - 5

Elon Musk1.
Bill Gates2.
Gautam Adani3.
Jeff Bezos4.
Bernard Arnault5.

Que. 78 In GSTN, what does N stand for?

Correct Option - 4

Nominee1.
Nation2.
Number3.
Network4.
None of the above5.

Que. 79 In 1857, the last ruler of the Mughal dynasty _______ was overthrown by the British.

Correct Option - 1

Bahadur Shah Zafar1.
Nasiruddin Humayun2.
Jalaluddin Akbar3.
Zahiruddin Babar4.
None of the above5.

Que. 80 The leader who participated in the Champaran Satyagraha

Correct Option - 4

Bal Gangadhar Tilak1.
Subhash Chandra Bose2.
Vallabh bhai Patel3.
Rajendra Prasad4.
None of the above5.

PM Mudra yojana has classified micro units under the following categories?
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Que. 81

Correct Option - 5

Shishu1.
Kishore2.

Tarun3.
None of these4.
All of the above5.

Que. 82 Which of the following airlines will be merged with Tata-owned Air India by March 2024?

Correct Option - 3

Go First1.
IndiGo2.
Vistara3.
SpiceJet4.
None of the above5.

Que. 83 In January 2022, which of the following railway stations was named as Ekta Nagar railway station?

Correct Option - 4

Dabhoi Railway Station1.
Anand Railway Station2.
Dadar Railway Station3.
Kevadiya Railway Station4.
None of these5.

Que. 84 What is the electronic trading platform of ITC?

Correct Option - 1

e-Chaupal1.
e-NAM2.
e-Rupi3.
e-Kishan4.
e-Sampda5.

Que. 85 When was the battle of Chausa fought?

Correct Option - 2

15601.
15392.
15453.
15354.
19405.

Que. 86 Which of the following is also known as laughing gas ?
Nitrogen dioxide1.
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Correct Option - 4

Nitrogen trioxide2.
Nitrogen tetraoxide3.
Nitrous oxide4.
None of the above5.

Que. 87 Government has Extended Rooftop Solar Scheme Till 

Correct Option - 3

February 20251.
March 20232.
March 20263.
December 20244.
None of the above5.

Que. 88 Where will a frozen cattle semen station be set up under the Rashtriya Gokul Mission?

Correct Option - 3

Kannauj1.
Etawah2.
Purnea3.
Madhubani4.
Muzaffarpur5.

Que. 89 The First Session of Indian National Congress was held at 

Correct Option - 1

Bombay 1.
Madras2.
Calcutta3.
Delhi4.
None of the above5.

Que. 90 The audible range of frequency for human ear is _____

Correct Option - 2

10 Hz to 10 kHz1.
20 Hz to 20 kHz2.
10 Hz to 20 kHz3.
10 Hz to 30 kHz4.
1 Hz to 20 kHz5.

Que. 91 Which team won 9th Pro Kabaddi league Title?
Bengaluru Bulls1.

Bengal Warriors2.

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Correct Option - 3

Jaipur Pink Panthers3.
Patna Pirates4.
Dabang Delhi5.

Que. 92 Regur Soil is another name for?

Correct Option - 1

Black Soil1.
Alluvial Soil2.
Laterite Soil 3.
Red and Yellow Soil4.
None of the above5.

Que. 93 Which of the following is the Diamond producing city of India?

Correct Option - 3

Kolkata1.
Chennai2.
Panna3.
Indore4.
None of the above5.

Que. 94 The monetary policy in India is formulated by :

Correct Option - 3

Central Government1.
Industrial Financial Corporation of India2.
Reserve Bank of India3.
Industrial Development Bank of India4.
None of the above5.

Que. 95 The UN Convention on Biological Diversity also called as Conference of Parties (COP - 15)
commenced in which country in December 2022?

Correct Option - 1

Canada1.
USA2.
Mexico3.
Brazil4.
None of the above5.

Que. 96 Which one of the following is a water borne disease?
Smallpox1.

malaria2.
Cholera3.
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Correct Option - 3

Tuberculosis4.
None of the above5.

Que. 97 How many Mahajanapadas or ‘Great Kingdoms’ existed in ancient India during the lifetime of Lord
Gautam Buddha?

Correct Option - 3

121.
102.
163.
144.
None of the above5.

Que. 98 Which line divides India and Pakistan?

Correct Option - 3

McMahon Line 1.
Durand Line2.
Radcliffe Line3.
Maginot Line4.
None of the above5.

Que. 99 Which force is required to maintain a body in Uniform circular Motion?

Correct Option - 1

The Centripetal1.
The force of Gravitation2.
Muscular force3.
Force of Friction4.
None of the above5.

Que. 100 Which planet in our Solar System has the longest day?

Correct Option - 4

Saturn1.
Jupiter2.
Mars3.
Venus4.
None of the above5.
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